Problem Solving — Using a Model

Category 2 Points 1 Point 0 Points Score
| correctly . | co.r;rec’rly read the
. . identified only .
identified both problem without
one the WHO or - P
Read & the WHO_and the the WHAT b identifying both
Int t WHAT by restating restatin Thg the WHO and the
SRFC the question after D Tiongoﬁ‘er WHAT or without
reading the qrec dina the restating the
problem. 9 question.
problem.
I have drawn and I hqvg drawn ks [ have not drawn
partially labeled
correctly labeled : and labeled my
L unit my equal unit Lunit b
Model & my equoiUni bars using SOME SqEet S OEIR
Label bars using ALL who and what correctly using
abels who and what clues (of the ALL who and
clucsin the e no’r( - ln Zhe what clucsin the
correct order. 4 correct order.
correct order).
I have reread the
problem one I have reread the | did not correcil
sentence at a problem, but did ) 4l
. adjust my unit
fime and not correcily ]
R - . . bars and | also did
Adjustments | comectly adjusted adjust my unit
. not place my
my unit bars, bars or place my d .
. . . question mark in
placing my question mark in the right olace
question markin | the right place. ghtp )
the right place.
| correctly solved
| corectly solved for the missing | did not correctly
Y 5O variable but did solve for the
for the missing e .
not show work ort | missing variable

Computation

variable and
showed my work.

showed my work
but it was not
correct.

and | did not
show my work.

Final Answer

[ put my answer in
a complete
senfence and the
work is neat.

| put my answer in
a complete
sentence, butitis
wrong or my work
is messy.

| did not put my
answer in a
complete
sentence and the
answer was
wrong or the work
IS messy.

Final Score »

A5
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